ENERGETIGS

Display & Bar Rack

Bedienungsanleitung







Ersatzteilliste 2004

Nr. Bezeichnung Menge
1 Stutzen 2
2 Untere Querstlitze 1
3 [Senkrechte Stiitze 2
4  |Mittelstitze 1
5 |Hantelausstellungsbalken 1
6 Kette 4
7 M10 x 50 Sechskantschraube 4
8 |[M10 Unterlegscheibe 16
9 M10 Schraube 16
10 |M10 x 80 Sechskantschraube 4
11 |M10 x 100 Sechskantschraube 4
12 |M10 x 130 Sechskantschraube 4




